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INDIAN ECONOMICS–II

Option–(i)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. one

and two are compulsory. Attempt remaining

three questions selecting one question each from

any of the three units out of the four units. All

questions carry equal marks.

dqy ik¡p iz'u dhft,A iz'u la[;k ,d ,oa nks

vfuok;Z gSaA nh xbZ pkj bdkb;ksa ls fdUgha rhu

bdkbZ;ksa esa ls ,d&,d iz'u pqurs gq, 'ks"k rhu iz'u

dhft,A lHkh iz'uksa ds vad leku gSaA

1. Liberalisation, Privatisation and Globalisation are

the main features of new economic policy, the new

policy is based on the assumption that market forces

can guide the economy in a more effective manner

than excessive government control. In new

economic policy many industries earlier reserved

for public sector were dereserved and opened for
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private sector. For example Telecommunication

industry was earlier reserved for public sector.

BSNL and MTNL (both Public Sector Units) were

the only service providers in telecommunication

sector. After privatisation, many domestic private

sector companies and foreign telecom companies

entered in telecom sector in India. It has promoted

competition and has resulted in better quality

telecom services at lower prices.

In the light of this case answer the following :

Questions :

(a) What do you mean by New Economic Policy ?

(b) What is Privatisation ?

(c) What are the benefits of Privatisation ?

(d) Explain the main disadvantages of

Privatisation. 16

mnkjhdj.k] futhdj.k o oS'ohdj.k ubZ vk£Fkd uhfr dh

izeq[k fo'ks"krk,¡ gSaA ubZ vk£Fkd uhfr bl ekU;rk ij

vkèkkfjr gS fd cktkjh 'kfDr;k¡] vR;f/d ljdkjh fu;U=k.k

dh rqyuk esa vFkZO;oLFkk dk csgrj fn'kk funsZ'k dj ldrh



gSaA ubZ vk£Fkd uhfr esa] ,sls cgqr ls m|ksx tks igys

lkoZtfud {ks=k ds fy, vkjf{kr Fks] mUgsa vukjf{kr dj

fn;k x;k vFkkZr~ mUgsa futh {ks=k ds fy, [kksy fn;k x;kA

tSls nwjlapkj {ks=k  m|ksx dks igys lkoZtfud {ks=k ds fy,

vkjf{kr fd;k x;k FkkA lkoZtfud {ks=k dh dsoy nks

bdkb;k¡ BSNL o MTNL gh nwj lapkj {ks=k esa lsok,¡

iznku djrh FkhA futhdj.k ds varxZr nwjlapkj m|ksx dks

futh {ks=k ds fy, [kksy fn;k x;kA blls Hkkjrh; futh

{ks=k dh daifu;ksa rFkk fons'kh nwjlapkj daifu;ksa us Hkkjr

ds nwjlapkj {ks=k esa izos'k fy;kA blls nwjlapkj {ks=k esa

izfrLi/kZ dks c<+kok feykA blds ifj.kkeLo:i nwjlapkj

lsokvksa dh xq.koÙkk esa lq/kj gqvk rFkk lsokvksa dh dherksa

esa fxjkoV vkbZA

mijksDr fLFkfr vè;;u ds vk/kj ij fuEufyf[kr iz'uksa ds

mÙkj nhft,%

(a) ubZ vk£Fkd uhfr ls vkidk D;k vfHkizk; gS\

(b) futhdj.k D;k gS\

(c) futhdj.k ds D;k ykHk gSa\

(d) futhdj.k ds eq[; nks"kksa dk o.kZu dhft,A 16
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2. (a) Choose the correct alternative of the

following : 5×1=5

fuEufyf[kr esa ls lgh fodYi dk p;u dhft,%

(i) Which of the following problem is faced by

Indian Industries ?

(a) Lack of Power sources

(b) Poor quality production

(c) Foreign competition

(d) All of these.

fuEufyf[kr esa ls dkSu&lh leL;k dk Hkkjrh;
m|ksxksa dks lkeuk djuk iM+rk gS\

(a) 'kfDr ds lk/uksa dh deh

(b) mRiknu dh ?kfV;k xq.koÙkk

(c) fons'kh izfr;ksfxrk

(d) mijksDr lHkhA

(ii) What was the slogan of Twelfth Five Year

Plan ?

(a) Garibi Hatao

(b) Self reliance

(c) Agricultural development

(d) Faster, sustainable and more inclusive

growth.
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ckjgoha iapo"khZ; ;kstuk dk ukjk D;k Fkk\

(a) xjhch gVkvks

(b) vkRe fuHkZjrk

(c) Ñf"k dk fodkl

(d) rhoz] lrr~ ,oa lekos'kh fodklA

(iii) Which of the following is not covered under

WTO ?

(a) TRIPs

(b) TRIMs

(c) GATS

(d) Custom Union.

fuEu esa ls dkSu lk le>kSrk WTO ls lEcfUèkr

ugha gS\

(a) TRIPs

(b) TRIMs

(c) GATS

(d) dLVe ;wfu;uA
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(iv) In comparison to Small Scale Enterprises,

MNCs enjoy more :

(a) Marketing superiority

(b) Technological superiority

(c) Financial superiority

(d) All of these.

NksVs Lrj ds miØeksa dh rqyuk esa cgqjk"Vªh; fuxeksa

ds ikl &&&&&&&&&&&&&&& gSA

(a) foi.ku Js"Brk

(b) rduhdh Js"Brk

(c) foÙkh; Js"Brk

(d) mijksDr lHkhA

(v) The parties involved in the process of

Industrial relations are :

(a) Workers

(b) Employers

(c) Government

(d) All of these.
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vkS|ksfxd lEcU/ksa dh izfØ;k esa i{k 'kkfey

gSa %

(a) Jfed

(b) fu;ksDrk

(c) ljdkj

(d) mijksDr lHkhA

(b) Match  the  following  with  their  correct

answer: 5

(i) Pradhan Mantri (a) SDRs

Jan Dhan Yojna

(ii) Railways and (b) Favourable

Atomic Energy Balance of Trade

(iii) NITI Aayog was (c) Banking facility

set up in the year

(iv) Special Currency (d) 2015

of IMF

(v) Exports of goods > (e) Public Sector

Imports of goods
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fuEufyf[kr dk muds lgh mÙkj ls feyku dhft,%

(i) iz/kuea=kh (a) SDRs  (fo'ks"k

tu /u ;kstuk vkgj.k vfèkdkj)

(ii) jsyos ,oa (b) vuqdwy O;kikj 'ks"k

vkf.od ÅtkZ

(iii) uhfr vk;ksx dh (c) cSā dx lqfo/k

LFkkiuk o"kZ esa gqbZ

(iv) vUrjkZ"Vªh; eqnzk dks"k (d) 2015

dh fo'ks"k djalh

(v) mRikn fu;kZr > (e) lkoZtfud {ks=k

mRikn vk;kr

(c) Answer the following questions : 6

(i) What is WTO ?

(ii) Write two harmful effects of Multinational

Corporations on Indian Economy.

(iii) What do you mean by Comparative

advantage in the context of Foreign Trade ?
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fuEufyf[kr iz'uksa ds mÙkj nhft,%

(i) WTO D;k gS\

(ii) cgqjk"Vªh; fuxeksa ds Hkkjrh; vFkZO;oLFkk ij iM+us

okys nks gkfudkjd izHkko crkb,A

(iii) fons'kh O;kikj ds lUnHkZ esa rqyukRed ykHk ls vki

D;k le>rs gSa\

UNIT–I  (bdkbZ–I)

3. Examine the pattern of Industrial development during

the Plan period in India. 16

Hkkjr esa ;kstuk dky ds nkSjku vkS|ksfxd fodkl ds <kapsa

dh foospuk dhft,A

4. Describe the growth and problems of Information

Technology Industry in India. 16

Hkkjr esa lwpuk izkS|ksfxdh m|ksx ds fodkl ,oa leL;kvksa

dk o.kZu dhft,A

UNIT–II  (bdkbZ–II)

5. What do you mean by Industrial Peace ? Explain the

essential conditions for maintaining Industrial peace.

Briefly discuss also the causes of bad Industrial

relations. 16
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vkS|ksfxd 'kkafr ls vkidk D;k vfHkizk; gS\ vkS|ksfxd 'kkafr

dks cuk, j[kus ds fy, vfuok;Z 'krks± dh O;k[;k dhft,A

vkS|ksfxd lEcU/ksa ds [kjkc gksus ds dkj.kksa dh Hkh la{ksi

esa leh{kk dhft,A

6. What do you mean by the Industrial Disputes ?

What are the causes and effects of Industrial

disputes ? 16

vkS|ksfxd fooknksa ls vkidk D;k vfHkizk; gS\ vkS|ksfxd

fooknksa ds dkj.k vkSj izHkko D;k gSa\

UNIT–III  (bdkbZ–III)

7. Discuss the achievements and failures of Economic

Planning in India. 16

Hkkjr esa vk£Fkd fu;kstu dh liQyrkvksa ,oa vliQyrkvksa

dk o.kZu dhft,A

8. What is Economic Planning ? Briefly examine the

objectives and the strategy of Indian Planning. 16

vk£Fkd fu;kstu ls D;k vfHkizk; gS\ Hkkjr esa vk£Fkd

fu;kstu ds y{;ksa ,oa j.kuhfr dk la{ksi esa o.kZu dhft,A
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UNIT–IV  (bdkbZ–IV)

9. Why was International Monetary Fund established ?

Explain the success and failures of IMF. 16

vUrjkZ"Vªh; eqnzk dks"k dh LFkkiuk D;ksa dh xbZ\ vUrjkZ"Vªh;

eqnzk dks"k dh liQyrkvksa ,oa vliQyrkvksa dk o.kZu dhft,A

10. Analyse the causes of adverse balance of payments of

India. How can it be corrected ? 16

Hkkjr ds izfrdwy Hkqxrku lUrqyu ds dkj.kksa dk fo'ys"k.k

dhft,A bls fdl izdkj lgh fd;k tk ldrk gS\
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